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Attempt all questions. Show your working notes clearly.

@It Je & I T 1 7T T AT g9 |
1. State with reasons whether the following statements are true or false:
(a) Accrual concept implies accounting on cash basis.
(b) Prudence is a concept to recognise unrealised profits and not losses.
(c) Any expenditure which is unreasonably large is capital expenditure.

(d) Heavy advertising expenditure to introduce a new product is revenue
expenditure.

(e) All assets and liabilities not taken over by the vendee company are
transferred to capital accounts of the partners.

HRU Tfed T fF 74 FoF 7 § S79a1 e —

(a) SUNH YR, Ashg UG ST 1 ey H 2 |

(b) fo@® = sEgRoN ST Wi S A I @ 7 foR v W

(c) @1 =g S SRV &Y § 3k B, GiTa H B § |

(d) T 3TE & IR H FKA A & fog fFan m@n ifaum fagmo &9, TS &
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(e)

2. (a)

(b)

2
T welt wfal gen 2Fael @, e @lcer S 7 TE o @), aerl &
gsht @l # siafd s e S @ o 5

Explain: (i) The depreciable cost and (ii) Two reasons for charging
depreciation on tangible fixed assets.

ST HiST;
() T @ 9 W eagE amen ST g |
(ii) STfas oT9e TRl W Jeagi™ ol o S R0 | 2

Ajay purchased on 1st Jan 2012 certain machinery for Rs. 1,94,000 and spent
Rs. 6,000 on its erection. On 1st July 2012 additional machinery costing Rs.
1,00,000 was purchased. On 1st July 2014, the machinery purchsed on 1st Jan
2012 having become obsolete was auctioned for Rs. 1,00,000 and on the same
date new machinery was purchased at a cost of Rs. 1,50,000. Depreciation was
provided annually on 31 Dec. at the rate of 15% p.a. on the W.D.V. of the
machinery. No depreciation need to be provided when a machinery is sold or
auctioned, for that part of the year in which sale or auction took place. But
for the rest of the machinery, depreciation is provided on time basis. In 2015,
however, Ajay changed this method of providing depreciation and adopted
the method of writing off 10% p.a. on the original cost of the machinery with
effect from 1 Jan., 2012.

Show Machinery Account for the accounting years 2012 to 2015.

3T 7 1 SFEd, 2012 1 TH TN Fo 1,94,000 I BAE qAT IY WG FA H
%o 6,000 T fRU | 1 W, 2012 F Fo 1,00,000 ANTA i fafcr T3 SIS
T | 1 SO, 2014 & o€ 730 S8 1 S, 2012 & e T o, AT § dn
Iy 7 WA W At H o 1,00,000 H o9 femm wam a9 W T %o 1,50,000
AT aTelt 7 "I Tl ©ff T | Yeug™ 15% afie @ X ¥ ued Jed W N
af 31 feEmR & oA S 2 0 A FE A9 99§ T @ steen Hram W&
T B O 39 R I ok 39 T W AR qoIg™ T o st fSeH 39 w3
S A1 e R T @ 1 wifeR o Aeie W §EEER ed an) W@ |
aafy & 2015 § o™ A Yeag™ w39 fafy w ufEfda o, 1 SRt 2012 ¥
Y, I T H 109 M Jeagr T 9T fera |

oG 96 2012 § I8 2015 % HINT Gral SRS | 8
Or (3121aN)
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(a) Distinguish between perpetual and periodical system of inventory valuation.
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TR oIS Sl W a9l Had Jedich Usiaal § atasfe siferd |

(b) The following are the details of raw material of Shyam Ltd.

4

2

1-1-2015 Opening stock Nil

1-1-2015 Purchases 100 units @ Rs. 30 per unit
15-1-2015  |Issued for consumption 50 units

1-2-2015 Purchases 200 units @ Rs. 40 per unit
15-2-2015  |Issued for Consumption 100 units

20-2-2015  |Issued for consumption 100 units

1-3-2015 Purchases 150 units @ Rs. 50 per unit
15-3-2015  |Lose by fire 100 units

Find out the value of stock as on 31-3-2015 if the company follows perpetual
inventory method on FIFO basis and on LIFO basis.

M o & F=d Tl o foeR0l 39 TR g—

01-01-2015 SRR Wl =

01-01-2015 % fan 100 3% @ ¥o 30 Wfq 3FE

15-01-2015 39N & fog S 50 S

01-02-2015 el fepa 200 3FE @ %o 40 N TG
15-02-2015  [3YEI % ferw Smd 100 %oTS

20-02-2015 3UANT % forg S 100 T

01-03-2015 EDRED) 150 IR @ Fo 50 ufd 3

15-03-2015 T & W afqu 100 $h1S

Ife gad saell Ugfd o HE R e fRam Sar 8@ @ FIFO 991 LIFO &
R W, 31-03-2015 & &7, ©iew F ged Fid HfC |

8

3. Following is the Income and Expenditure A/C of the Rohini Sports Club for the
year ended 31-3-2015: —

You are required to prepare (i) Receipts and Payment account for the year ended
31-3-2015 and (ii) Balance Sheet as on the date.

P.T.O.
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Income & Expenditure A/c for the year ended 31-3-2015

Expenditure Rs. |Income Rs.
Salaries 24,000 Subscriptions 72,000
Rent 10,800(Entrance fees i 8,000
Rates and Taxes 600|Surplus on publication of brochure 4,500
Postage & Telephone 720|Profit on sales of old sports assets 1,200
Affiliation fees to lawn 1,200|Interest on 5% investment 600
tennis federation
Sports materials 15,750|Miscellaneous income 223
Electricity charges 1,200
Repairs & Mainte- 9,600
nance of tennis court
Depreciation on assets 4,800
at 10% of book value
at the end of the year
Surplus : 17,855
86,525 86,525
The following further information is made available: —
31-03-2014 31-03-2015
Rs. Rs.
1. Sundry assets (including sports goods) 44,000 ?
2. Bank balance 4,800 ?
3 Subscriptions in arrear 4,750 3,500
4. Subscriptions received in advance 1,400 2,600
S 5% Investments 12,000 12,000
6. Expenses outstanding:
(a) Salaries 600 1,200
(b) Rent 900 1,800
(c) Rates and Taxes Nil 600
(d) Tennis court maintenance : 780 320

P ——



7. Outstanding for purchases of sports material 1,400 2,950
8.  |Prize fund 4,600 3,250
9. The book value as on 1-4-2014 of sports goods sold during the year was Rs. 4,000.

10.

kL

12.

13.
14.

Prize fund is separately maintained— all receipts being credited to it separately
and expenditure met out of the fund directly. During the year credits to the
account amounted to Rs. 2,800.

Interest received this year was only for two quarters.

The club was admitted as a member of the lawn tennis federation on 1-10-2014,
when it paid subscription till 30-9-2015.

Advertisement charges in brochure yet to be collected Rs. 450.

A fixed deposit of Rs. 25,000 was made on 31-3-2015.

31-03-2015 & §9w I8 & forg, ol WET s & & a9 9 @W W @]
= fezn e @ 1 YEW W 9 O % SER W—

(i) 31-03-2015  TAMG o & Q@ WftG 990 YA @A AR SIS qe

(i) 34 fafy i go=-1 f s

p) wo |3 %o

T 24,000 |3TIRTH 72,000

feRran 10,800 [5E¥T Y[ 8,000

Ty a1 I 600 |fefoTenl S SRS W = 4,500
IR qur AfeeE 720

W A PRI R FuEd Yo WA B geaiEl 3 feseg W] 1,200

A

WY gl 15,750/5% fer1 W = 600

fostelt =@ 1,200 [fafay a3 225

e F I W 9 W@-@E 9,000

e | a6 F 3 Iy 4,800

T&hd qed W 10% 9819

CIENL 17,855 ,

86,525 86,525
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Afafea sifafs faaw ff Syesy —
31-03-2014 31-03-2015
%o ®o
1. fafqy gefwE (@@ ol @fa) 44,000 9
2, d% dorg 4,800 9
3. Hed JHIEH 4,750 3,500
4. AWy sTvRE 1,400 2,600
5. 5% faaw 12,000 12,000
6. 3o Y .
(a) I 600 1,200 S
(b) T 900 1,800
(c) Y9 T 33y = 600
(d) 8 e = E-TE@E 780 320
7. OF gt § eed @de 1,400 2,950
8. &R iy 4,600 3,250

9. ¥ % AR < T Tt W B 01-04-2014 F [T Ted Fo 4,000 o |
10. TR ffer &1 stemm § @ o R— wh wiftest SoR s S W & qwr 9 =
WY off @ R I 1 o & SN gw we # %o 2,800 I g |
11. 9 99 99 =&, O & fomfedt & o ® 1 U9
12. %o 3FE BRI F T 01-10-2014 ' T 3R 30-09-2015 TF F T
Yo YA R fear T
13. foafien & B fagm= & %o 450 33h o 9y §

14, %o 25,000 1 WGy ST 31-03-2015 N HA T4 | 10
Or (372re)
(a) What is a contingent liability? Give three examples of contingent liabilities.
TR AT 2 Bl @ ? Tk g i SR A | 2

(b) The following Trial Balance has been prepared from the books of Mr. S, as on
31-3-2015 after making necessary adjustments for depreciation of fixed
assets, outstanding and accrued items and placing the difference under sus-
pense account.
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Particulars Rs. Particulars Rs.
Machinery 1,70,000|Sundry Creditors 82,000
Furniture 49,500|Capital A/c 2,45,750
Sundry Debtors 38,000|Outstanding Exps:
Drawing 28,000 Salaries 1,500
Travelling Exps. 6,500 Printing 1600
Insurance 1,500 Audit Fees 1,000
Audit fees 1,000{Bank interest 1,200
Salaries 49,000|Discount 1,800
Rent 5,000{Sales less returns 6,80,000
Cash in hand 7,800
Cash at Bank 18,500
Stock in trade on (1-4-2014) 80,000
Prepaid insurance 250
Miscellaneous Exps 21,200
Discount 1,200
Printing and stationary 1,500
Purchases less returns 4,60,000
Depreciation:

On machinery 30,000

On furniture 5,500
Suspense A/c 39,400

10,13,850 10,13,850

On a subsequent scrutiny the following mistakes were noticed:

(1) A new machinery was purchased for Rs. 50,000 but the amount was
wrongly posted to furniture account as Rs. 5,000.

(2.) Cash received from debtors Rs. 5,600 was omitted to be posted in the

ledger.

P.T.O.
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(3.) Goods withdrawn by the proprietor for personal use but no entry was

passed Rs. 5,000.

(4.) Sales included Rs. 30,000 as goods sold for cash on behalf of Mr. T who
allowed 15% commission on such sales for which effect is to be given.

(5.) Closing stock on physical verification amounted to Rs. 47,500.

(6.) Depreciation on machinery and furniture has been provided @ 15% and
10% respectively on reducing balance system.

Full years depreciation is provided on addition.

You are requested to prepare Trading and Profit and Loss A/c for the year
ended 31-3-2015 and Balance Sheet as on that date so as to represent a true

- and correct picture.

W il WA g1, oed 9 S qel & gyfad SRS O % 9
amma%aﬁaq@ﬁnr@ﬁ%rmaﬁsaﬁwﬁm—m-zmsaﬁrﬁtr

T e dOR 3 T f—
Eﬁ} k) aﬁ} &o
LN 1,70,000{faf= AR 82,000
e 49,500 [4ST @ 2,45,750
fafe= IR 38,000|37ex =9 :
T 28,0000  Jq 1,500
I =Y 6,500  mzuy 600
ST = 1,500] . gitfis-cie 1,000
3ifee By 1,000(s' =1 =1 1,200
CLE] 49,0002 1,800
fepran 5,000{aT9H e & S1E fasme 6,80,000
EET| 7,800
18,500
SR ¥ ©fF (1-4-2014) 80,000
qeie o 250
fafay =g 21,200
B 1,200
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515
R0 qe RIFR 1,500
U SR & SIS hA 4,60,000
R :

T W 30,000

T W 5,500
TG @I 39,400

10,13,850 10,13,850

4. (a)

(b)

9% ¥ =l TR vsae ¥ Aefafed Tefadt S v =

(1.) Fo 50,000 ¥ WL T 7F T A Mo F B @A H Fo 5,000 ¥ W
R feam T

(2.) IR ¥ T To 5,600 T A AR F WL FA & Ik & T |

(3.) %o 5,000 eI S T Wl FN AR T & fow foran forg T FE
fafy 72 & T |

(4.) fosra = T & ot T =7 3 @ %o 30,000 H T =0 T4 AT GiiAfera 2

S 39 fashd W 159% FHvE faem or ik 38 & g § i &
o |

(5.) witfier T W A @i Fo 47,500 =T T |

(6.) TNl T HATR W HEE Td AT USfA TR AW 15% A 10% W W
TIRTE AT TR R |

a8 & ERH 4% TiT | f R 99 w1 oI N | 3T, 31-03-2015 H TH

a¢ & fog YEr AR q«r enH-E @ R SE fafy @ @ geE-u dAR

S SEEE H HE qY7 SRt o @ | 8

Distinguish between financial lease and operating lease.

fexita g1 qen ufEmem ug # st Sifsa | 2

A Ltd. purchased on 1st Jan 2014 from M/s SK Traders four machines having
cash price of Rs. 8,00,000 each on hire purchase basis. The payment was to be
made as follows: —

10% of cash price down.

25% of cash price at the end of each of the following four years. e
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(a)

(b)

10

A Ltd. paid the first instalment but failed to pay the second instalment due on
31st Dec. 2015. M/s SK Traders repossessed three machines leaving
remaining one machine with the buyer. The value of three machines was
taken at cost less depreciation @ 20% p.a. on reducing balance method. A
Ltd. charges depreciation @ 10% p.a. on reducing balance method on 31st
Dec. every year. M/s SK Traders spent Rs. 4,20,000 on overhauling of
machines repossessed and sold two of the repossessed machines for Rs.
12,00,000. |

Prepare necessary accounts in the books of both the parties.

1 e, 2014 ® 4 fafies 3 dud wmodo Ied § fFUT-FT UR W =R
i T AE ¥ A% TR ged %o 8,00,000 § | YN 38 FHER HE
q— TE e & 10% T YO a1 e o Fl 25% Sfaes AEmH AR
a6 % ofd H1 4 o I som forvd o T A R 31 fREER, 2015 @
<F fhed 9 & © UIT )| THodo 3T A WS W shal F U DA U WA Ied
F ol | HHF T g TS o FIER ANE W 20% IS oA % 9% 34
i wRi 1 ged a9 foear w4 feo wfaed 109 aiffe @ ) Y b sed
Ted & AU T TR W 8 | Tho %o 38 3 Fsd o T AN o SHuifER

W Fo 4,20,000 T T a1 3 ¥ @ A S %o 12,00,000 F = fem 8
Or (31e1e)
Distinguish between Hire Purchase system and Instalment Purchase system.

fRtr-spT Ugfd a1 fopvd W &g ugfd § iR ww «hifsu | 2

R.C. Sales Corrporation has a hire purchase department. Goods are sold on
hire purchase at cost plus 25%.

From the following particulars, prepare the ledger accounts by Stock and
Debtors Method: —

Rs.
Stock with hire purchase customers at selling price on 1-4-2014 15,000
Instalments due (customers paying) on 1-4-2014 ' 1,800
Sales on hire purchase basis during the year ended 31-3-2015 at selling price | 96,500
Cash received during the year ' 98,300
Goods repossessed (instalment due Rs. 2,000) valued at 1,700

Instalment due (customers still paying) on 31-3-2015 1,100
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3MRo®lo I FHURIA H T fFuar-wa faur 3 oy oeem © org 3§ 259%
ST R HIET =T S R

I few U =R ¥ wiF a9 S T ¥ FR @R TR ST 8
do

fertren-sha TTEel o T fasRa Yod W WiH 01-04-2014 15,000
37 fRed (3R WTRF 2 W B) 01-04-2014 1,800
31-03-2015 % 9O 9 3 SR, fashd qed W A, e e 96,500
USfa W S T
o & A T wftEt 98,300
wisd Al (o W 3Tex fohed To 2,000) I 7F Tod 1,700
37 v (3iR Tew 2 W ?) 31-03-2015 1,100

5. (a) Distinguish between a “Dependent Branch” and an “Independent Branch”.

ST RGN qAT TerdT WA H S T | | 2

(b) T Ltd. has two Branches at Delhi and at Bombay. Goods are invoiced to
branches at cost plus 50%. Goods are transferred by/to another branch at its

cost. Following information is available of the transactions of Delhi Branch
for the year ended 31-3-2015: —

Rs.
L Opening stock at LP. 2,67,000
2 Goods sent to branch (including goods invoiced at Rs. 15,000 to
branch on 31st March 2015 but not received by branch before
the close of the financial year) 7,83,000
3. Goods received from Bombay Branch 6,000
4. Goods transferred to Bombay Branch 51,000
3, Goods returned by branch to H.O. 11,700
6. Goods returned by credit customers to branch 5,700
7. Goods returned by credit customers directly to H.O. 1,200
8. Agreed allowance to customers off the selling price (already 1,000
taken into account while invoicing)
9. Normal loss due to wastage and deterioration of stock (at cost) 1,000
PO



616

10.

Loss in transit (at invoice price) Rs. 6,600 against which a sum of
Rs. 4,000 was recovered from insurance company in full
settlement of the claim.

11. Cash sales Rs. 32,000 and credit sales Rs. 7,29,400.
12. Branch expenses (including insurance charges) Rs. 50,000
13. Bad debts Rs. 1,000 and discount allowed to customers Rs. 500.
Prepare Branch Stock A/c, Branch Adjustment A/c and Branch P&L A/c, if
the closing stock at branch at its cost as per physical verification amounted to.
Rs. 2,00,000.
& fafis &t feeh qen o & < wwerd ¥ 1wl 9 AL @ S 509 % § 5
SISt e WA R S @ 1 e gR/R A SEe o R SfaRa fe
STl R | 31-03-2015 H AW a9 ¥ fow feweh wwEm % -2 @ e 3@
SR i
o
1. STk od W RS &iw 2,67,000
2. [wmEn SR A (R 31 9, 2015 %o 15,000 diew
| qed A WS § S Y & gu A ¥ eSO
T g7 D) 7,83,000
3. |qRE WET § WW A1 6,000
4,  [qFE e S stafa A 51,000 |
5. [vTEn EN N Sl @ e S 11,700 S
6. 3YT UTES I W 1 Hiel a9 fwe 5,700
7. |39 AR 7 WY yuE e B A aww Se 1,200
8.  |feshl g W ureet # whed gz @ o0 g g9 gy
TS § @ A fern 1,060
9. |Wih % TE A &g A F HRO (@ W) WA @ 1,000
10. [Arf ¥ g2 = (S g8 W) Bo 6,600 e foeg Siwr T
ST et | ol feR ¥ o 4,000 S qT
11, [T fosht ®o 32,000 991 3UR fashd %o 7,29,400
12.  |ym@n & @ (d == gEh) o 50,000
13. |92 @ o 1,000 T TEH P BT & Fo 500

B [l |

F\-}

&

E |
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Ife yrEr F ifde G F YR W 3T SO Ovd W oIy ©fF To
2,00,000 B @ G ik GIAT, YREN GHESE @ 99T IRl -8 T SR
hifeTa | , 8
Or (3120a)

(a) Explain the procedure of incorporating the Branch Trial Balance in H.O.
Books.

v st e difer R NHE wEieE $ YR § gifod s @ SR @
THWET | 2

(b) C Enterprises with their H.O. at Rajasthan has a branch at Delhi. The goods
are supplied to branch at 25% less than the list price which is cost plus 100%
of cost. The Head Office also supplies goods to its dealers at the same price at
which they are supplying to its branch at Delhi.

From the following particulars, prepare Trading and P&L A/c of the H.O. and
that of its Branch: — ‘

Head Office Delhi Branch

Rs. Rs.
Opening Stock 60,000 33,000
Purchases during the year 45,00,000 -
Goods sent to Branch ' 18,70,000 -
Goods received from H.O. = 18,70,000
Goods sold to dealers 25,10,000 —
Goods sold to customers at list price 32,00,000 24,00,000

- o TR, SR U e e § @, 9 foeet U W@ R 1 9
I ATel SR qo (ST @G S 1009% B) W 259% 9 ged W IE fewan St
21 YoF FEieE on dell W o s e W (R W WR & 3 3) T

AT © |
I fRT T =R F AUR W qGH FEleE qd IR WG H AR gl
-gf BT R e | 8
TN R feeeit yman
%o To
AR =i | 60,000 33,000
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9 & S e 45,00,000 =
@ A A 18,70,000 L,
TYE FEferE § N T - 18,70,000
SieRi = ATeT foasa 25,10,000 =
el 1 iferd geg W fesh! 32,00,000 L 24,00,000

6. (a) What is Gradual (Piecemeal) disfribution of cash?
TG &1 e (feed-feed) fomor &/ @ram 82 2

(b) R, Z and T shared profits and losses in the ratio of 5 : 3 : 2 respectively. On
31st March, 2015, their balance sheet was as follows: —

Liabilities Rs. Asders Rs.
Trade Creditors 30,000 Furniture 11,000
Bank Loan 10,000 Stoclk 48,000
Capital A/C Cash 1,000
R 30,000 P&L A/c 40,000
20,000
Z iR
10,000
T
1,00,000 1,00,000

The Bank had a charge on all assets. Furniture realised Rs. 3,000 while the
entire stock was sold for Rs. 25,000. Z’s private estate realised Rs. 6,000. His
private creditors were Rs. 5,000. T was unable to contribute anything. R paid
one-third of what was due from him on his own account (before considering
the one-third payment by him in his capital account).

Prepare Realisation Account, Cash Account, Partner’s Capital Account,
passing all matters relating to realisation of assets and payment of liabilities
through the Realisation Account. Clearly show calculation regarding cash
brought in by R.

R,Z A1 T SHSL 5 : 3 : 2 & U & o9 @i faufsa sa €1 31 9,
2015 & 3R O U 39 THR A—

daang %o pater ipi] %o

&~
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T & TATRR /30,000 TR 11,000
e 0T 10,000 Wi 48,000
0ot @@ TR 1,000
- 30,000 Y-8 @rar 40,000
20,000
Z
10,000
T
1,00,000 1,00,000
d gt grafael W o S TUR o1 1 FERER § Fo 3,000 W U SWI% W WIF Fo
[ 25,000 & s=1 WA Z W fSt gEfa @ %o 6,000 W< Y Selh S fsd
2T Fo 5,000 off | T FE off weA Wer 37 F swmed 4y R VI wWH A, W
ITH AR ¥ 2T (e S @ ¥ uw-faeR E @ ud) o U TR
fewar 3 feam
| Sel T & W ¥ gt geiadl @ oEel q9n <Fdel & I SXd gC
el @, Ak BT 997 TR F Yol TN TIR HRWC 1 R GRT TR T’ TG
T q Geifd goft TUATE Qre-9T 9T | 8
: Or (371214)
} (a) Briefly explain the Garner Vs. Murray rule.
| THA g7/ R 99 H G899 § GEEHET | 2
| (b) A partnership was dissolved on 30th June 2015. Its Balance Sheet on the date
o A of dissolution was as follows: —
Liabilities Rs. Assets Rs.
: Capitals: Cash 5,400
: R 38,000 Sundry Assets 94,600
24,000
S
18,000
M
Loan Account of S 5,000
| Sundry Creditors 15,000
i 1,00,000 1,00,000

The assets were realised in instalments and payment was madePor% tg)le
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proportionate capital basis. Creditors were paid Rs. 14,500 in full settlement
of their account. Expenses of realisation were estimated to be Rs. 2,700 but
actual amount spent on this account was Rs. 2,000. This amount was paid on
15th Sep, 2015. Draw up a statement showing distribution of cash which was
realised as follows: —

On 5th July 2015 Rs. 12,600
On 30th August 2015 Rs. {30,000
On 15th September 2015 Rs. 40,000

The partners shared profits and losses in the ratio of 2 : 2 : 1. Give working
notes.

30 ST, 2015 ! TF WA 9 H T | 39 A IGH qO-U 39 TER Aq—

LREILY Fo Tt %o
gsit: e T 5,400
= 38,000 fafir=y gt 94,600
24,000
S
18,000
M
S S RO @il 5,00n
fafy=T o eR 15,000
1,00,000 1,00,000

rfdl § aeel fhwd § @ uE qu eE e Yst ¥ eUR W fem wan
WTERl W Fo 14,500 I Ik W H QU USRS A | SRR F AL =
¥ 2,700 ¥ fobg 39 we & g H To 2,000 & @H W1 THH YA 15 FHAE,
2015 I g1 | Vs & foamw q9f g T difcient FaR ST Soifsh Askg 1 el
EHWES‘:—

5 ST, 2015 %o (12,600
30 37T, 2015 %o 130,000
15 fqamR, 2015 %o 140,000

WIHER 2 : 2 : 1 SIY H 0N 6 Sied € | oHEd uReher 9 § ewfed 8

8000



